
Attenrpr i all ques.t.ions Tirne i 2I lours

Q l) (i) :ixptai! bdefly, lvhy Java lanEuirlo is popular.
(4 marks)

(ii) , a) I.,i$i lbur cate8ories ol'prinritive daia q?es ofJava alld their names in Java.

ib) U}:plairr why dil'fefet'rl daia l.yp0s arc necessary.
(4 marks)

(4 marks)
(iiij iixplain tfte rol,: of cor sh liotoi ri, aaeessols End modifiers. Under what

ciflrull.Lslances do j,ou need eaDh r)l'th,llr. 
(6 ma&s)

Q2) (i) ikrrsitlcr the plogE.n fiallnert
int sim=.0;
for(int i'=C;i<=5;i+r.)'[
S) lter.r. ru1.p(intlrr{"'llcllo ;r+ i);
suln 1"=i

)
Sy!tem.Lrut.printlnl "surn'="1 surn);

(rl Write dc,lvn the oulput firr lhq alr.'ve codc.

(b llerviil:e lhe above,ro,le usirg vl,iie loop.

({:, l{e1\,ril.o the abovs,;c,Je usinpl cio,_while loop
(4 marks)

(ii) (.h$ c.rn sture marks bef/r'eo 0 an,l 100 for an exarn. Write a methcJd which takes
e)iarn irrnrli! iri 0n ir]plrt ancl rctLnlrs llra(le assigned accoding to the following rule.

Grade assigned

B
C
D
F

( l0 marks)

' (4 marks)

(4 marks)

l.:)rrtJ11 $(0re
qlrand rooro
t,0 - [i9
i a ... it:)

60-69
heiou'60



a constructor.Ql'r) I i trll,,r.rrgcor.lcrh.lirri l!Ir55 t omplexN r rms ' logether \vith

l:r l)l ii: .:lass C.nr\pIlr!ll1r1lrl'
'r.i , '1 , Lr' ,< ,'

F.r.j ',r1tie doubLo l, ;

. L,,.tb.L i:r Ccmplcx)1,:rLrc (ri,)rb e a, double b) {

y."L ;

i
]

U rite th: .'.nlr li. rhc t'ollor' 'rg m':th 'Js L) lhe above class.

(a) l o lrr flt a c: lnf'l(,( nulnbel ill lh(r fi:rrf "x-l-iy".

(b) 'l'o l:' {l lt ,':(l,liLrC,6ef1$rr66r pl. rrrr"tbcls

(c)'1o f,i,l 1lr,i sublra(;tiot ol'hvo oomf leJ, Jrunrbers

(d) 'i o l ir (i llie nrull.ilrlioalit n of 1\,lt! cotilr,lcx numbers

i(i]r..ri).r(t{rlD],t{lri-lrr0}. l

Q4) (i) \l/ r on w(uld you u{ie: art abiittact (i|rris alld rvhal should it contain?

(ii) \\I rerr wcnrlil you u5( a illlr:Iito\:J
Ca,t a i,bl;s haLve nrori: thail ctle lrlleri'hoe?

9;1 . t,"n...r r intc.f:rr t r..rntrrir,l

(iii) \\ri1e Ja,ia progren k] disl)lr] r.h: ft)llowing:

(ii) Co0rlrru(|l ar qrfrlication cluis c:!llc(l "i:omplei[lltmsApp". Create necessary

instar.cc '.r:,ici. Ls r)lCompler )i ttms :'lrd {lse ils rlethod$ to compute and print thc value of

(3 marks)

(4 marks)

(4 marks)

(5 marks)

(14 marks)

(6 marks)

(6 marks)


